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Question Type 1

i —

Practice Set 1: Easy

Questions 1~2

B SCREARIR H X R ragwort IXFNAR L, AR SR BT | 58] New Zealand [ A %, JF HEFE,

P SCREAA T AV sheep farming ¥%[4] dairying ( 384 ) ZJ&, ragwort faER KA, KR
ragwort X AR, FIZ TRXMEHA FA S BRHAERIGESR, M4z T2ZESS B4R,
H AT RERBA Y.

L6 T ragwort 4% 5| # 2] New Zealand & 5F HH R = A BE X G F YR E . ragwort
AHAAES, ANEHFHEFRIAFRR S, F AL EE M aHERETT 5 th FH LA
AR ARF,

coincided with and exacerbated a decline in agriculture
took place in conditions that enabled the ragwort to spread faster than it otherwise would have done
led to an increase in the amount of toxic compounds contained in the plants

prevented people from producing honey that could be eaten safely

o awp

had consequences for livestock that were more dramatic than they otherwise would have been

ragwort & 4 ill-timed /& AREI5A M sheep farming %] dairying ( 84 ) . KT A,
SCEE AR MOE LR R Al B, HERS S Tk B, SR BRI ragwort fE 4 LA condition, HERR;
KT C, CHRBAET] ragwort FIELE[ T [ S9A W EEIN, HEBR; & TE D, 7E(E{THHE,
A ragwort (I4EH) J FEHE honey &R EAE 2211, FHILXARTE ill-timed MYEEH, HEBR; XTI E,
XA BEITA A ) BEJEXS T livestock i, JERHASAHWEH, WHENARZFFEN, FR
B, BEERIEA T, RREH, E#.
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For the following question, consider each of the choices separately and select all that apply.

A. Milk produced by cows that eat ragwort causes illness in humans who drink it.
B. Ragwort can supplant the plants normally eaten by cattle.

C. Cattle, unlike sheep, are unable to differentiate between ragwort and healthy grazing.

SR MRS RBR R ENL, BRI, TR A, SCRERAREAE T2 ragwort 4 (54
A, HEBR; & TFHET B, % “Livestock generally avoid...in their pasture” (lines 6-8) , #t#&
— AL T Rl Rz ragwort 1Y, EAY ragwort fURF 74U EHAB R ETA SZE, WiCER
KNSRI [ S5 20 J5 [ R 2 T, SR AR ragwort, BaHH ragwort U8 TAHZH0 L, £76
KFHET C, Efi% “Livestock generally avoid grazing where ragwort is growing” ( lines 6-7) , 3
rh R B & E A T LABER ragwort Fil healthy grazing, FH-#AH URAFEA X5, HEBR.

Question 3

X FANB T XA —/ paradox: — 7% @ f£ B4 & L catering establishments ¥ ordinary
restaurants ¥ % 4%, % — 7 @ £ 4R 45 % health department #) 24 P & £ ¥ 4 F £, catering
services % 89 Fb restaurant meals %0 # % .

A. A significantly larger number of people eat in restaurants than attend catered banquets in any given time
period.

B. Catering establishments know how many people they expect to serve, and therefore are less likely than
restaurants to have, and serve, leftover food, a major source of food poisoning.

C. Many restaurants provide catering services for banquets in addition to serving individual meals.

D. The number of reported food-poisoning cases at catered banquets is unrelated to whether the meal is
served on the caterer’s or the client’s premises.

E. People are unlikely to make a connection between a meal they have eaten and a subsequent illness unless

the illness strikes a group who are in communication with one another.

S Scs, FoNl 17 S @ B ALE catering establishments [ ordinary restaurants [J A= 4G B 4% 1)
BitE F ., N4 catering services SR HERAAHU EPh FES 4 1L restaurant meals FEWHZ . R
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XA~ paradox fY G HE R B BN B4R 25 45 health department fY 7 75 35 5 50 A 25 R F 52 br & A B vp
BEFOFBUE . CTHET A, HOM7E D442 |- ordinary restaurants . catering establishments 55 A ™
&, {BANTE restaurants WZ4R ) A FLAE catered banquets W2 IR A2, 455N ZERTE =4 b S
%, JINHE paradox, fEBR; & T kT B, catering establishments B/ ILFI A4 (&b 5k
IR AR NZEE AN EY P EESE 3, JIE paradox, HEBR; X T LW C, restaurants $2fit
catering services 5 75 AN P B SRR 9 oL, HEBR; & FEMi D, catering establishments
G B Y h RS EUR S B2 R A X TCE R LA paradox, HERR; XL E,
ERERERIEEZEY PRI AZ B S AR, — BT 1A 208 A0 B A& Yk &
R, BISERR A B R BN R TR S Z 6. S0 banquets B ANTHERTRERBA, HitESm
banquets (A bt 2548 T HZ 89 S AT RBAL T3XAF— A E AR MU AOREIAR, Bl 1 Sk ] fil P A W &g
HAERREE, X AT AR 24200 banquets 25 28 SR G EY hEERE], .

Questions 4~5

R FedR 20 4R 30 4R African American newspaper MillGAR Z HES, 24T —ANHIBERH
Bl JERAMEN].

FE SCREARN T T T 2 R A Ak - W] AT 25 5 M ENR politically charged material .

y '
i|muaon.

TR, Mk T ERARWRNIRL: HNHES, JFH LaREL

sensationalism, sports, and society news DA NN & F 75 .

(500 X345 African American newspapers 7 20 42 30 4/X. & 16 #9 — A B 32 5 4 & 4%
EE B LA F 8.

For the following question, consider each of the choices separately and select all that apply.

A. African American newspapers would have given more attention to sports and society news than they did.

B. African American newspapers would have been available at lower prices than large national dailies
were.

C. African American newspapers would have experienced constraints on their content similar to those

experienced by large national dailies.



IR

10 %I E “advertisers of consumer products often ignored African American publications” ( line
3) A4S RIFR AL African American newspapers [) 8, X FpE AL T — RGN, A RS
FRIBHR ERNB L L H2EH, RIEMER —E=RFEEMRIE, XT®H A, &N
% “African American publishers often felt compelled to print a disproportionate amount of sensationalism,
sports, and society news to boost circulation” ( lines 10-12) , JESCHiRMIBLE) 45 TR 3K African
American newspapers 23 5 iX #& newspaper i ¥ £ [t sports Fl society news, Ui A i) FX 45
R —3 (RiZAHR ) . BrC HERR; X TFiEW B, & fi% “Unfortunately, it also made the selling
price of Black papers much higher than that of general-circulation dailies” (lines 7-8 ) , X% H & i}
African American newspapers It national dailies 5, | 53K 2 55 Al ST E M TAM45 HeJF ok
fifi—2, ZFEFRELKF L national dailies BEEE, JEMA, HEBR; XTI C, &% “Editors
could print politically charged material more readily than could the large national dailies, which depended
on advertisers’ ideological approval to secure revenues” (lines 5-7) , X H 45 i} large national dailies
A% 5 R politically charged material, [H 24 ‘& {/] depended on advertisers’ ideological approval to
secure revenues, B U1 45 % African American newspapers # 2 45, A4 B 1114 depended on
advertisers for revenues, HIS B RFIEE A S HR politically charged material, 1F#ff,

A. They assumed that advertising in African American newspapers would not significantly increase the
sales of their products.

B. They failed to calculate accurately the circulation of African American newspapers.

C. They did not take African Americans’ newspaper reading into account when making decisions about
where to advertise.

D. They avoided African American newspapers partly because of their sensationalism.

E. They tried to persuade African American newspapers to lower the rates charged for advertising.

U ORTFETT A, Ef7E “For instance, knowing that buyers of African American papers also bought
general-circulation papers, advertisers of consumer products often ignored African American publications”
(lines 1-3) , advertisers %1ifi 3 African American papers [ Al &B4:3L general-circulation papers, FIf
LAt {74138 3£ African American newspapers ] A#f<x7& general-circulation papers [ ¢, [
1 African American newspapers P8 S AW EZ W BAZCR, 1IEM; X TETI B, (EK
BB ERX AT RATE, HEBR; X TEm C, CEEREE| advertisers TERELEA S A BA
% &3} African Americans’ newspaper, HEFR; )& FHETT D, sensationalism J& advertisers AN 4
HIZE R, ARJAMH; LT E, SCFWHE K advertisers J2& 75 215 African American newspapers F#{I§
Hras, HEBR.
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Question 6

U XEAB T MIUERT IS, Frieland 4975 % 74 % nonrenewable energy & #, MARVA
J6 nonrenewable energy #9% % S48 T %,

. There was a steady decline in the yearly revenues generated by the energy tax in Frieland.
There was a steady decline in the total amount of energy consumed each year in Frieland.

There was a steady increase in the use of renewable energy sources in Frieland.

o 0w >

The revenues generated by the energy tax were used to promote the use of energy from renewable
sources.
E. The use of renewable energy sources in Frieland greatly increased relative to the use of nonrenewable

energy sources.

C U HEd ., MCEERTG, REVEBIE XS nonrenewable energy, KA nonrenewable energy (1 FHAT
steady reduction, AJ LLHfEWTH T nonrenewable energy (REIRBL B4R FI%, A IEH; X TEWiD,
MSCEETCAE L RETRBLAY A, HERR; ST BCE, A MJESC HiE T nonrenewable energy FYTH 9 it
FasEu /b, B4 $#%) renewable energy BIZEILIENL, FrLARTREMERZS, nlRESERGINAY (A RIS ) |
WL (CHE) | ARSI (BR) |« AIXTRAE (E®) , BZIEFIE, Hik BCE #AX .

Questions 7~9

B CFEAN T i Douglas Martinson £ ALK Al {5 AU AE . SRR S EMEE A
23 B E L AR RS e T

FEF SRR MR SRR 24 KIE AU vk B /L, 1B Douglas Martinson A A3 A 4
PR DR /T 7 A R T A A A S M 2> eI - B /D A KO R {45 2 T VA /K A4 R B TR
EHEEECA R KB T/, HILAZES P U HEE A HEEEK (Rl ) |
I RZE K CIREER ) FH30E ) SR AR, RIS s w A vkl 17, B R i
FKIREE BB, Fr LA IR K2 (RUAIREE & TR Z K BT S Bur ik 17 ) o

50 XFA4 T Douglas Martinson #9L,% : 43R EZ 7| AN EE LA RLRFYa dLR
B As K, MR T a2 dy
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A. They are more affected by annual fluctuations in atmospheric temperatures than they would be if they
were less salty.

B. They are less salty than they would be if global warming were to occur.

C. They are more likely to sink and stir up deep waters than they would be if atmospheric temperatures
were to increase.

D. They are able to offset some of the effects of global warming beyond the Antarctic region.

E. They are less affected by the temperature of deep water than they would be if atmospheric temperatures

were to increase.

o KT surface waters [F#iR, 07 2 CFEEHE 4 “True, less sea ice...not be excessive” ( lines
4-12) , HHiR%E| T 2ERAEE 2 )5 surface water B H/N, A5 FUL, FEWAMERMEK FTHERE,
FEEREKIREM, FiH surface waters HBTHIEOLR L SIRERFH LT KR, HH TFIl, BHZHE
JZMEK b AR R . TR A, CEI%$EF] annual fluctuations in atmospheric temperatures
SHEK R, HEBR; & T35 B, HAJ surface water V1% Hb 2 BRAFE J5 8 salty, Se0L 1, HEBR;
XTI C, HHT surface water H iR R A B 5 FUUFFERIZ K, EWf; X TEM D, &
B4 K Antarctic region LISMHEIX IS AL, HEBR; XTI E, surface water 7E H 7R T N iZ L
FESIR T B B8 24 32 R 2K R, IR 1, HERR .

. They rise to the surface more quickly than they would if global warming were to occur.
. They store heat that will exacerbate the effects of increases in atmospheric temperatures.
. They would be likely to be significantly warmed by an increase in atmospheric temperatures.

. They would be more salty than they currently are if global warming were to occur.

m o 0O w >

They are less likely to be stirred up when surface waters are intensely salty than when surface waters are

relatively unsalty.

¥%TF deep water FUFHIAR, {7 % SCFEEH 4> “True, less sea ice...not be excessive” ( lines
4-12) , LFRAEMEST deep waters 1 ANE 5 Bl surface waters fii £, [ FHHS, PRI F AR A AR X A28 12
J& B 5y surface waters fifHE, FFFEHR. A £5A, 1EM; ST B, XFEA T deep
waters fif 8 ) U X} atmospheric temperatures (5200, HEFR; JC T80 C, CFEEA#EF] an increase
in atmospheric temperatures X deep waters ()20, HEFR; & TIEW D, SCEBAT #2 5] deep waters
£k BE 5 global warming ()26 &, HEBR; X T L5l E, surface waters 7F intensely salty KR L
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relatively unsalty AR T A S, deep waters, BET E i T, HEBR.

. The amount of sea ice that forms in the winter has been declining.
Most of the sea ice that forms in the winter remains intact in the summer.

Even small changes in the amount of sea ice dramatically affect the temperature of the surface waters.

U N w»

. Changes in the amount of sea ice due to global warming would significantly affect the stability of the
Antarctic environment.

E. Changes in the amount of sea ice affect the degree of saltiness of the surface waters.

LS 2SCHTEIR sea ice, RIERITARERESL, Bk, XTHEM A, XHEEA HEAEMZATE
FIE vk 8, HEBR; T B, 7% “where sea ice forms on the periphery of the continent
in the autumn and winter and mostly disappears in the summer” (lines 3-4) , K#VKE K&K,
e T, HEBR; X TF1E C, L ZE “the surface waters would remain cold enough so that the
decrease would not be excessive” (lines 11-12) , 7KEIE/D not excessive, &4 dramatically affect,
eIV T, HEBR; KT EET D, #R¥E Douglas AYMLA, 4FKAZME T 2H KRl {1k A2 significantly
affect the stability of the Antarctic environment, i{EEANMAIAL “plausible” (line 1) , Fitkik
Wik 17, HEBR; XTI E, E{7ZE “less sea ice would mean a smaller increase in the concentration
ofsalt” (line8) , 1EMA.
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Question 1

Lines 1-6  That sales can be...than the other departments.
X F 35 B4R 3% Savefast £ 415 PE——RMA R GAH R E 0 2%, FaRBERE TR
#HHE: REANFMARIBHEG—FEE, RIAERGEA; F—FZaEAARE,
BEFRAF R, BRI MAY—BHERNESTH—B.

1.  Which of the following, if true, most strengthens the argument?

A. On particularly cloudy days, more artificial light is used to illuminate the part of the store under the
skylight.

B. When the store is open at night, the departments in the part of the store under the skylight have sales that
are no higher than those of other departments.

C. Many customers purchase items from departments in both parts of the store on a single shopping trip.

D. Besides the skylight, there are several significant architectural differences between the two parts of the
store.

E. The departments in the part of the store under the skylight are the departments that generally have the

highest sales in other stores in the Savefast chain.

IR, HiIbR: RN P IRE DR — B TR BEIBDER — . 45ie . FROCRSERE Af
DAMRRERS B . SO TR BB RA DX R R S mmm A 225, B HANES
FERE R B FHOL I — A B LR BB DL — B B i . KT A, FAXMEAEZ NEEA SR
e HE ) PR — T 5 A PR B B — M B B B WL AR, HEBR; T REM B, MR BRI, HXAE
HR B BECHR— W B A Lo 3 — iy, il At HERR T T RERC m B AN, DAEAAE KPR
HA R ENZER, SR T, E#; TR C, KM BEEMImARL AT, RIEXE
BRI MR SE 1925 , X T B B AU M JCRE B , HERR: S TR D, PIRA A HAl R E 25
YL AT REA AL RSB m e s — i e, WSS midENGE, HEPR; < THENE, Savefast chain
A 7o A7 A A T F 3k 0 i PR 3] B DY 49— v A ] 19 DX 3 — R B 4 R B T, T A
T HAL R R B O — M He s — s B hr, Hlss iR, HER .
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Questions 2~4

Lines 1-10 While the best sixteenth-century...from syntax to science,
SCHECE SEHE A T best sixteenth-century Renaissance scholars [l original Latin % X 7E original
historical context H1 245 il F1BEf# Roman classics, [ FlliX & scholars [A] A HZ L 8 F B A
SRR T SCEFH T 22 TR EA]. HAiX 2L Roman classics H1 7 N A 8IA A I
AN JEIE A Renaissance young, K Renaissance teachers % [EFI X SLAERR A TR, Xfixst
SCAHEAT T i A5y 4 ( from syntax to science ) , FHRHEAMATES .

Lines 11-12 Thus, 1 believe that...sixteenth-century reader.

HEEEEBNEE . BCEEE AATHE%IE a line of ancient Roman poetry or prose %I particular
educated sixteenth-century reader E M HH 4 .

XFEENBT XL A0S A 4o T #H% Roman classics.,

2. The passage is primarily concerned with discussing the

. unsuitability of the Roman classics for the teaching of morality
approach that sixteenth-century scholars took to learning the Roman classics
effect that the Roman classics had on educated people in the Renaissance

. way in which the Roman classics were taught in the sixteenth century

MY oW

contrast between the teaching of the Roman classics in the Renaissance and the teaching of the Roman

classics today

EETE EBEL O T H RN SCE R 4 Roman classics A #4524 4 , PRI D IE#;
KT I A, XFEMILHEF] T Roman classics Ml A EMEHE, HXARCEHFE, SEHREHN
TR AR FF Roman classics #EATIREFIY 4R, HEBR; ST B, SCEHHEHRAER]
sixteenth-century scholars %% >] Roman classics )75, {Hix HA&H 15| 28 B 24 Roman classics
kIt S ZEXTH, HEBR; TN C, XFERA 1L Roman classics X T3 01 1 educated
people FUREME , HEBR; XTI E, XEEATHECEE XA (X Roman classics BEE X L,
HERR o

3. The information in the passage suggests that which of the following would most likely result from a

student’s having studied the Roman classics under a typical sixteenth-century teacher?

A. The student recalls a line of Roman poetry in conjunction with a point learned about grammar.
B. The student argues that a Roman poem about gluttony is not morally offensive when it is understood in

its historical context.



